1. Pemmre ypasrenne: (7+2)(1 —i) = 2.
Hhz=—-14+2i 2z=141i 3»Hz=-1—i sHz=-1+i ﬁz:ﬁ+i

6z =—14+4
2. Pemmre ypasrenne: (1 +1)(z—3) = —3.
13+3i 215+&5 33+3i 43 3i 515+3i 63+3i9
I T R S R S S S L S S
3. Pemmre ypaBuenue: 37 — 7 = Rez+1.
L i , i . i o, i . i . 2i
1Z=-g DI=g NI=5 HI=—5 9I=5 0I= 7

4. Pemmre ypaBuenune: 27+ 7= 1—Imz.

1 i* 1 1 1 1+. ) |4
) 2 3 ) 2 3 )2 3 ) 2 1 ) 2 3 ) 2
s p . 1 B I
. PCHINTC YPABHCHUC: Z - 1+l
Nz=1-7 2nz=—1—i 3yz=—i*—i 4Hz=1—i s5z=1+2i
6)z=1—4i
1 1—1
6. Pemute ypaBHeHune: — = ——.
Z i
1+z , > P2 1+i 1
Nz=~=+= = —— . HNZ=——-4—. Hz=—=——.
VTR Ty PET R Ty EET Ty VEETLT,
R S S .
VT Ty Ty 9T Ty
7. Pemmre ypaBHeHue: 22 =—1.
D1-i  2)—i 3)i 41+i S-1-i 6)—-1+i
8. Pemmte ypaBHeHue: 2 =i
2 2 2 2 2 2
e B e B e B el
5 \/i + \/§ 6 \/§ + \@
= —+—=i = ——+ =
L T N S
9. Pemmre ypauenue: Z° = 1.
N A2 _1+j¢§ e iV3
D S R S S 2
1 i3 R S Ve
VETTY T 0P T
10. Pemmte ypaBHeHHE: 2 =-1.
iv3 1 iV3 1 V3
hz=—-1—i 2z=-1 mz:§+—%: @zzi—lg: QZ:§+Q§;
6)z=1
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11. Pemmre ypaBHeHHE: 2 =i

| V3 1. ) . \/§+1_ V31
= —— — —1 _= = — = —— —1 = — — —
) T 2 ) 2) T 1 3) 2 1 ) T 2 2 5 Z 5 5
\/§ 1.
6 = — —
) Z 2+21
12. Pemure ypaBHeHuE: 2 =—i.
1 V3 i , 3 ., \/§+i \ ﬂ+i
= - — — = —— —1 = — — = —— —
) Z 3 ) ) 2 5 ) Z > 7 ) Z 5 >
s \/§ ] ] )
= — — — =1
)2 2 5 ) 2

13. Pemmre ypasnenne: 7> —4z+5 = 0.
Hhz=1 2z=24i 3Hz=14i 4Hz=2—-i 5z=-24+i 62z7=2i

14. Pemre ypaBHEHHE: 2 +3z+4=0.

3 Vi 3 VT 3 VT, _ VT,
1)z= > 21 2) 2= > 21 3)z—2 21, 4) 7= 21,
3 V7, V7.
5)z—§+71, 6)Z——2—71,

15. PemmTe ypaBHEHHE: 272+ 82411 =0.

1 —'\/§ 2) 7= \/§ 3) 7= 2+'\f Hz=2—1i 3
)T =1 5’ )T = —1 >’ ) 2= l ) ) T = 4 7’
3 3

16. Pemmre ypaBHeHue: 322 —6z+9=0.

Nz=1-iV2 2z=-2+4iV2. 3»z=2+4iV2. 4z=iV2.
5)z:1+i\/§ 6)z:—1—i\/§.

17. Pewre ypaBHEHHE: 22 +1=0.
hz=1—i 2z=i 3)z=2i sHz=—1 5z=-20i 6z=1

18. Pewmre ypaBHeHue: F—22+1=0.
Hz=1i, 2z=—-1+i, Hz=1—-i, Hz=1 35z=—-1 6 z7=—I,
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